AR
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A B EF B H B 3t & 1= &
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A5l A F | A1 F | BRE | BEE] A F |61 F| BERE [ BERE] A F | 51 F | BEK(BEE]| A F | 61 F | BEK | #HE
=] 5t 16,281 [ 16,372 -91 -0.6 103 120 =17 | -14.2 ] 19,113 | 19,425 =312 [ -1.6 991 1,004 -13 -1.3
1A% 1,280 | 1,253 +21 +2.2 9 1 +2 | +28.6 1,526 1,492 +34 | +2.3 93 11 +16 | +20.8
2A% 1,228 | 1,218 +10 +0.8 6 4 +2 | +50.0 1, 406 1,433 =271 -1.9 82 16 +6 +1.9
3A® 1,367 [ 1,338 +29 +2.2 9 13 -4 ] -30.8 1,598 1,564 +34 | +2.2 85 18 +] +9.0

4 A% 1,290 [ 1,315 =25 -1.9 9 10 -1 ] -10.0 1,534 1,565 =31 -2.0 16 83 -1 -8.4
5A% 1,325 | 1,307 +18 +1.4 6 9 -3 | -33.3 1,569 1,551 +18 | +1.2 11 18 -1 -1.3

6 A% 1,263 | 1,377 -114 -8.3 1 14 -13 | -92.9 1,469 1,627 -158 | -9.7 19 100 =21 -21.0
7A% 1,431 1,389 +42 +3.0 10 15 -5 | -33.3 1,739 1, 649 +90 [ +5.5 85 82 +3 +3.7
8AH 1,343 | 1,308 +35 +2.17 10 11 -1 -9.1 1, 625 1,596 +29 | +1.8 11 88 -11 ] -12.5

9 A% 1,327 | 1,317 +10 +0.8 8 8 +0 ] +0.0 1,559 1,581 22 | -1.4 66 16 -10 | -13.2
10A 5 1,435 | 1,445 -10 -0.7 10 9 +1 | +11.1 1,670 1,724 =54 | -3.1 13 80 -1 -8.8
1MAH 1,507 [ 1,483 +24 +1.6 13 9 +4 | +44.4 1,733 1,758 =25 | -1.4 100 81 +13 | +14.9
1285 1,485 [ 1,622 -137 -8. 4 12 11 +1 +9. 1 1, 685 1,885 -200 [ -10.6 98 99 -1 -1.0

(7) BR&RIH4E
X5
A5 F B B K 3t & = &
£ =

A5l A F | 51 F | BEK [ BRE|A F |61 F | BEK | EHRE| R F | 51 F | BEK | BRE| X F [ 51 F | BEK | BEE
1 A X 1,280 [ 1,253 +21 +2.2 9 1 +2 | +28.6 1,526 1,492 +34 | +2.3 93 11 +16 | +20.8
2 A X 2,508 | 2,471 +37 +1.5 15 11 +4 | +36.4 2,932 2,925 +7 | +0.2 175 153 +22 | +14.4
3 A X 3,875 | 3,809 +66 +1.7 24 24 =0 ] +0.0 4,530 4,489 +41 +0.9 260 231 +29 | +12.6
4 A X 5,165 | 5,124 +41 +0. 8 33 34 -1 -2.9 6, 064 6, 054 +10 | +0.2 336 314 +22 +7.0
5 A X 6,490 [ 6,431 +b9 +0.9 39 43 -4 -9.3 1,633 1, 605 +28 | +0.4 413 392 +21 +b. 4
6 A X 1,753 [ 7,808 -b5 -0.7 40 57 -17 ] -29.8 9,102 9,232 -130 | -1.4 492 492 +0 +0.0
7 A X 9,184 | 9,197 -13 -0.1 50 12 -22 | -30.6 | 10,841 [ 10, 881 -40 | -0.4 577 574 +3 +0.5
8 A X 10,527 | 10, 505 +22 +0. 2 60 83 =23 | -27.7 ] 12,466 [ 12 477 -11 -0.1 654 662 -8 -1.2
9 A X 11,854 | 11, 822 +32 +0. 3 68 91 -23 | -25.3 ] 14,025 [ 14,058 -33 | -0.2 120 738 -18 -2.4
10 A X 13,289 | 13, 267 +22 +0. 2 18 100 22 | -22.0 ] 15,695 [ 15,782 -87 | -0.6 793 818 -25 -3.1
1 A X 14,796 | 14, 750 +46 +0. 3 91 109 -18 | -16.5 | 17,428 | 17,540 -112 | -0.6 893 905 -12 -1.3
12 A X 16,281 | 16,372 -91 -0. 6 103 120 =17 | -14.2 ] 19,113 | 19,425 =312 [ -1.6 991 { 1,004 -13 -1.3




